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Calculus I (Math 231) Exam 2

Date: November 5,2007

Justifv answers and show all work for full credit.

NAME:

Professor Ilva Kofman

the deriuatiae of the follo:wing functi,ons. Do not si,mpli,fy.Problem 1. Compute
Show all work!
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Problem 3, Let f (r): r/{Til.

(") Use the d,efi,nition of the deriuatiue to finit f'(L).
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Find, the uelocity of the butlet uhen it retunts to the ground..
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Problern 5. A lad,d'er I0 ft long rests agai.nst a aertical wall. If the bottom of the

1 ( ladder slides away from the wall at a rate of I ft/sec, how fast is the top of the ladder
| ) sliili,ng down the wall when the bottom of the ladder is 6 ft from the wall?

?lY YL\'=l,oo
r

7x fr+ Uh= o

fi x26, X=g ) o/t' /6 = t

7'(o'l + L'g**=o 42 #= 
-

Problem 6. Let f (r) : rs - 3r2 + L.

{ @) Find, the critical poi,nts.

f (b) Find, interuals where f (r) is increasing or d,ecreasing.

f @) Idenffi all relati,ue ertrema usi,ng the Fi,rst Deriuatiue Test.

51 tal ld,entify thte absolute rnar and, m,in of f (r) for L ! r 13.-
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